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1. Find the velocity and position as a function of time for a particle moving along the X axis and 

- "" l_"A· dx"" d 
2
xexperiencing a linear retard force F =mx = -l\.A. X = - x =-­

, dt' dt2 

Initial condition: vet =0) =va ; xCt =0) =0 25% 

2"aW1LrS'gffL~rPJ r = xi + yJ(a)&~PJ}fP¥iIDf~@[f~ 


S'gr,B,r,O*7"r(b)*~Nv =dr (PJr,B,r,O,f,8*7f\)

dt 


(c)*a = dv (PJr,B,r,O,f,8,r,¢*7T~)(d)~'~1$B'g~5* 250/0

dt 

3. Consider a disc that has a string wrapped around it with one end attached to a fixed support and 

allows to fall with the string unwinding as it falls (Fig. I). Find (a) Lagrangian (b) the equation of 

motion of the falling disc. Note: m is the mass of the disc. 250/0 

4. Find (a) moment of inertia tensor of a homogeneous triangle with density p and mass m(Fig.2) 

(b )the principal moments and principal axes . 25~1c 
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